





Some congruences around Fermat quotients

Algunas congruencias relacionadas con los cocientes de Fermat

Laid Elkhiri^{#1}  J.D. Bulnes⁺²  M.A.I. Travassos⁺³  and J. López-Bonilla^{**4} 

Department of Material Sciences, RECITS Laboratory, Tiaret University, Algeria

+ Dep. Ciências Exatas e Tecnologia, Universidade Federal do Amapá, Macapá, 68903-419, AP, Brasil

** ESIME-Zacatenco, Instituto Politécnico Nacional, Ciudad de México, México

Abstract. In this paper, we give some interesting congruences involving harmonic numbers and sequences in the form $W_n = xa^n + yb^n$, related to Fermat quotients, such as $\sum_{n=1}^m W_n H_n \equiv f \pmod{p}$, for the cases $m = p - 1$ and $m = \frac{p-1}{2}$, where $q_p(a) = \frac{a^{p-1}-1}{p}$, $a, b \in \mathbb{Z} - p\mathbb{Z}$.

Keywords. Harmonic numbers; Fermat quotients.

Resumen. En este artículo, presentamos algunas congruencias interesantes que involucran números armónicos y secuencias en la forma $W_n = xa^n + yb^n$, relacionadas con los cocientes de Fermat, como $\sum_{n=1}^m W_n H_n \equiv f \pmod{p}$, para los casos $m = p - 1$ y $m = \frac{p-1}{2}$, donde $q_p(a) = \frac{a^{p-1}-1}{p}$, $a, b \in \mathbb{Z} - p\mathbb{Z}$.

Palabras Claves. Números armónicos; Cocientes de Fermat.

How cite. L. Elkhiri, J.D. Bulnes, M.A.I. Travassos, and J. López-Bonilla. Some Congruences Around Fermat Quotients. *Jou. Cie. Ing.*, vol. 16, no. 2, pp. 33-39, 2024. doi:10.46571/JCI.2024.2.7

Received: 2/09/2024 Reviewed: 18/11/2024 Accepted: 7/12/2024

1. Introduction

Pierre de Fermat first stated the following result in a letter dated October 18, 1640, to his friend and confidant Frénicle de Bessy:

“For all prime p and $a \in \mathbb{Z} - p\mathbb{Z}$ we have $a^{p-1} \equiv 1 \pmod{p}$.”

¹ e-mail: laid@univ-tiaret.dz

² e-mail: bulnes@unifap.br

³ e-mail: angelicaptravass@gmail.com

⁴ e-mail: jlopezb@ipn.mx

The condition $a \in \mathbb{Z} - p\mathbb{Z}$ is equivalent to $(a, p) = 1$. It follows from Fermat's small theorem that

$$q_p(a) = \frac{a^{p-1} - 1}{p},$$

where $q_p(a) \in \mathbb{Z}$. Fermat quotients have been of interest since the time of Eisenstein and Glaisher in the nineteenth century. Glaisher [3] proved that for a prime $p \geq 3$:

$$\sum_{n=1}^{p-1} n^{p-1} \equiv -2q_p(2) \pmod{p}. \quad (1)$$

On the other hand, Guo-Chu [4] defined generalized harmonic numbers by:

$$H_\alpha(n) = \sum_{k=1}^n \frac{\alpha^k}{k}, \quad n \in \mathbb{N},$$

where α is an appropriate parameter, and with $\alpha = 1$ we have the harmonic numbers [1].

Wolstenholme [7] discovered that for any prime number $p \geq 5$:

$$H_{p-1} \equiv 0 \pmod{p^2}.$$

The Binet formulas for the sequences $\{U_n\}$ and $\{V_n\}$ are given by:

$$U_n = \frac{a^n - b^n}{a - b}, \quad V_n = a^n + b^n, \quad (2)$$

where a and b are the roots of the equation $x^2 - rx - 1 = 0$; when $r = 1$, $U_n = F_n$ (the n -th Fibonacci number) and $V_n = L_n$ (the n -th Lucas number).

Granville [2] showed that for an arbitrary prime number $p \geq 5$:

$$H_{p-1}(a) \equiv \frac{(a-1)^{p-1} - a^p + 1}{p} \pmod{p},$$

and Kopal-Omur [5] gave the following congruence:

$$H_{\frac{p-1}{2}}(a) \equiv \frac{p}{2} - \frac{(\sqrt{a+1})^p - (\sqrt{a-1})^p}{p} \pmod{p}.$$

In light of this important work, here we study some congruences involving harmonic numbers and related to Fermat quotients.

2. Some congruences related to Fermat quotients

Firstly we give another proof of Glaisher's congruence modulo p .

Theorem 1. For any prime $p > 3$ and $a \in \mathbb{Z} - p\mathbb{Z}$, $a \neq 1$, we have:

$$H_{p-1}(a) \equiv -aq_p(a) + (a-1)q_p(1-a) \pmod{p}. \quad (3)$$

Proof. From the expression:

$$a^{p-1}H_{p-1} = \sum_{k=0}^{p-1} a^k H_k - \sum_{k=0}^{p-2} a^k H_k = \sum_{k=0}^{p-2} a^{k+1} H_{k+1} - \sum_{k=0}^{p-2} a^k H_k,$$

$$= (a-1) \sum_{k=0}^{p-2} a^k H_k + \sum_{k=0}^{p-2} \frac{a^{k+1}}{k+1}.$$

Since $H_{p-1} \equiv 0 \pmod{p}$, we obtain the relation:

$$\sum_{k=0}^{p-1} a^k H_k = \frac{H_{p-1}(a)}{1-a} \pmod{p}, \quad (4)$$

besides, for any $k \in \{1, \dots, p-1\}$, clearly: $\binom{p-1}{k} \equiv (-1)^k (1-pH_k) \pmod{p^2}$, then:

$$\begin{aligned} \frac{(1-a)^{p-1}}{p} &= \frac{1}{p} \sum_{k=0}^{p-1} \binom{p-1}{k} (-a)^k \equiv \frac{1}{p} + \frac{1}{p} \sum_{k=1}^{p-1} (-1)^k (-a)^k (1-pH_k) \pmod{p}, \\ &= \frac{1}{p} + \frac{1}{p} \sum_{k=1}^{p-1} a^k - pa^k H_k \pmod{p} = \frac{1}{p} + \frac{1}{p} a \frac{a^{p-1}-1}{a-1} - \sum_{k=1}^{p-1} a^k H_k \pmod{p}. \end{aligned}$$

Thus:

$$\frac{(1-a)^{p-1}-1}{p} - \frac{a}{a-1} \frac{a^{p-1}-1}{p} = - \sum_{k=1}^{p-1} a^k H_k \pmod{p}, \quad (5)$$

from (4) and (5), the proof of (3) is complete.

In particular, since $q_p(\pm 1) = 0$, then for $a = 2$, appears the Glaisher's congruence (1).

Theorem 2. For any prime $p \geq 3$ and $ab \in \mathbb{Z} - p\mathbb{Z}$, $a, b \neq 1$, we have:

$$q_p(a) + q_p(b) \equiv q_p(ab) \pmod{p}, \quad (6)$$

$$q_p(a) - q_p(b) \equiv q_p\left(\frac{a}{b}\right) \pmod{p}. \quad (7)$$

Proof. According to the very definition of Fermat quotients:

$$q_p(ab) = \frac{a^{p-1}b^{p-1}-1}{p} = \frac{(1+pq_p(a))(1+pq_p(b))-1}{p}.$$

$$q_p(ab) = q_p(a) + q_p(b) + pq_p(a)q_p(b) \equiv q_p(a) + q_p(b) \pmod{p},$$

and similarly:

$$q_p\left(\frac{1}{a}\right) = \frac{\left(\frac{1}{a}\right)^{p-1}-1}{p} = \frac{1-a^{p-1}}{pa^{p-1}} = -q_p(a) \pmod{p}.$$

Thus, the proof of (7) is complete.

Theorem 3. For any prime $p > 3$ and $a, b \in \mathbb{Z} - p\mathbb{Z}$, $a, b \neq 1 \pmod{p}$, we have:

$$\sum_{k=1}^{p-1} W_k H_k = \frac{q_p(a^{b-1}b^{a-1})}{(a-1)(b-1)} + q_p\left(\frac{ab}{(1-a)(1-b)}\right) \pmod{p}, \quad (8)$$

and:

$$(a-b) \sum_{k=1}^{p-1} U_k H_k = \frac{q_p\left(\frac{a^{b-1}}{b^{a-1}}\right)}{(a-1)(b-1)} + q_p\left(\frac{a(1-b)}{(1-a)b}\right) \pmod{p}. \quad (9)$$

Proof. From the expression (5):

$$\begin{aligned} \sum_{k=0}^{p-1} a^k H_k &= \frac{1}{1-a} (-aq_p(a) + (a-1)q_p(1-a)), \\ &= \frac{a}{1-a} q_p(a) - q_p(1-a) = \frac{1}{a-1} q_p(a) + q_p\left(\frac{a}{1-a}\right). \end{aligned}$$

therefore:

$$\begin{aligned} \sum_{k=1}^{p-1} W_k H_k &= \frac{1}{a-1} q_p(a) + q_p\left(\frac{a}{1-a}\right) + \frac{1}{b-1} q_p(b) + q_p\left(\frac{b}{1-b}\right), \\ &= \frac{1}{a-1} q_p(a) + \frac{1}{b-1} q_p(b) + q_p\left(\frac{ab}{(1-a)(1-b)}\right), \\ &= \frac{q_p(a^{b-1}b^{a-1})}{(a-1)(b-1)} + q_p\left(\frac{ab}{(1-a)(1-b)}\right). \end{aligned}$$

Similarly:

$$\begin{aligned} (a-b) \sum_{k=0}^{p-1} U_k H_k &= \frac{1}{a-1} q_p(a) + q_p\left(\frac{a}{1-a}\right) - \left(\frac{1}{b-1} q_p(b) + q_p\left(\frac{b}{1-b}\right)\right), \\ &= \frac{1}{a-1} q_p(a) - \frac{1}{b-1} q_p(b) + q_p\left(\frac{a(1-b)}{(1-a)b}\right), \\ &= q_p\left(\frac{a^{b-1}b^{a-1}}{(a-1)(b-1)}\right) + q_p\left(\frac{a(1-b)}{(1-a)b}\right), \end{aligned}$$

thus, the proofs of (8) and (9) are complete.

Corollary 1. Since $1-a=b$ and $ab=1$, we have the results:

$$\begin{aligned} \sum_{k=0}^{p-1} F_k H_k &= \frac{1}{a-1} q_p(a) - \frac{1}{a} q_p(a-1) \pmod{p}, \\ \sum_{k=0}^{p-1} L_k H_k &= \frac{1}{a-1} q_p(a) - \frac{1}{a} q_p(1-a) \pmod{p}. \end{aligned}$$

Lemma 1. For any prime $p \geq 3$ and $a \in \mathbb{Z} - p\mathbb{Z}$, $a \not\equiv 1 \pmod{p}$, are valid the relations:

$$H_{\frac{p-1}{2}}(a) \equiv (a-1)q_p(a-1) - (a+1)q_p(a+1) \pmod{p}, \quad (10)$$

$$\sum_{k=0}^{\frac{p-3}{2}} \frac{a^{2k}}{2k+1} \equiv \frac{1}{2} q_p(a^2-1) + \frac{1}{2a} q_p\left(\frac{a+1}{a-1}\right) - q_p(a) \pmod{p}. \quad (11)$$

Proof.

1. By the observation:

$$H_{p-1}(a) + H_{p-1}(-a) = H_{\frac{p-1}{2}}(a^2),$$

and the congruence (3), the proof of (10) is complete.

2. From the property:

$$\sum_{k=1}^{\frac{p-3}{2}} \frac{a^{2k+1}}{2k+1} + \frac{1}{2} \sum_{k=1}^{\frac{p-3}{2}} \frac{a^{2k}}{k} = \frac{a^{p-1}}{p-1} + \sum_{k=1}^{p-1} \frac{a^k}{k},$$

and the congruences (3), (10), and:

$$\frac{1}{p-1} \equiv -1 \pmod{p},$$

the proof of (11) is complete.

Theorem 4. For any prime $p > 3$, $a \in \mathbb{Z} - p\mathbb{Z}$, $|a| \neq 1$, and m a non-negative integer, we deduce the results:

$$\sum_{k=0}^{\frac{p-3}{2}} P_{k,m}(a) H_{2k} \equiv a^2 \sum_{k=0}^{\frac{p-3}{2}} \frac{(k+1)^m a^{2k}}{2k+1} + \frac{1}{2} \sum_{k=1}^{\frac{p-1}{2}} k^{m-1} a^{2k} \pmod{p^2}, \quad (12)$$

$$\sum_{k=0}^{\frac{p-3}{2}} (-1)^k Q_{k,m}(a) H_{2k} \equiv a^2 \sum_{k=0}^{\frac{p-3}{2}} \frac{(-1)^k (k+1)^m a^{2k}}{2k+1} + \frac{1}{2} \sum_{k=1}^{\frac{p-1}{2}} (-1)^k k^{m-1} a^{2k} \pmod{p^2}, \quad (13)$$

where:

$$P_{k,m}(a) = (k^m - a^2(k+1)^m) a^{2k}, \quad Q_{k,m}(a) = (k^m + a^2(k+1)^m) a^{2k}.$$

Proof. We have the relations:

$$\begin{aligned} & \sum_{k=0}^{\frac{p-3}{2}} k^m a^{2k} H_{2k} + \left(\frac{p-3}{2} + 1 \right)^m a^{p-1} H_{p-1} = \sum_{k=1}^{\frac{p-3}{2}+1} k^m a^{2k} H_{2k}, \\ & = \sum_{k=0}^{\frac{p-3}{2}} (k+1)^m a^{2k+2} H_{2k+2} = a^2 \sum_{k=0}^{\frac{p-3}{2}} (k+1)^m a^{2k} \left(H_{2k} + \frac{1}{2k+1} + \frac{1}{2k+2} \right), \\ & = a^2 \sum_{k=0}^{\frac{p-3}{2}} (k+1)^m a^{2k} H_{2k} + a^2 \sum_{k=0}^{\frac{p-3}{2}} \frac{(k+1)^m a^{2k}}{2k+1} + \frac{1}{2} \sum_{k=1}^{\frac{p-1}{2}} k^{m-1} a^{2k}. \end{aligned}$$

Since $H_{p-1} \equiv 0 \pmod{p}$, the proof is complete.

Similarly:

$$\begin{aligned} & \sum_{k=0}^{\frac{p-3}{2}} (-1)^k k^m a^{2k} H_{2k} + (-1)^{\frac{p-1}{2}} \frac{p-1}{2} \left(\frac{p-1}{2} \right)^m a^{p-1} H_{p-1} = \sum_{k=1}^{\frac{p-3}{2}+1} (-1)^k k^m a^{2k} H_{2k}, \\ & = \sum_{k=0}^{\frac{p-3}{2}} (-1)^{k+1} (k+1)^m a^{2k+2} H_{2k+2}, \\ & = a^2 \sum_{k=0}^{\frac{p-3}{2}} (-1)^{k+1} (k+1)^m a^{2k} \left(H_{2k} + \frac{1}{2k+1} + \frac{1}{2k+2} \right). \end{aligned}$$

$$= a^2 \sum_{k=0}^{\frac{p-3}{2}} (-1)^{k+1} (k+1)^m a^{2k} H_{2k} + a^2 \sum_{k=0}^{\frac{p-3}{2}} \frac{(-1)^{k+1} (k+1)^m a^{2k}}{2k+1} + \frac{1}{2} \sum_{k=1}^{\frac{p-1}{2}} (-1)^k k^{m-1} a^{2k}.$$

Then, by the Wolstenholme's congruence $H_{p-1} \equiv 0 \pmod{p^2}$, the proof of (13) is complete. In the light of (12) and (13), we get the following examples:

Example 1. Case $m = 0$. For any prime $p \geq 3$ and $a \in \mathbb{Z} - p\mathbb{Z}$, $|a| \not\equiv 1 \pmod{p}$:

$$\sum_{k=0}^{\frac{p-3}{2}} a^{2k} H_{2k} \equiv \frac{a^2 q_p(a)}{a^2 - 1} - \frac{1}{2} q_p(a^2 - 1) \pmod{p},$$

and:

$$\equiv a^2 \sum_{k=0}^{\frac{p-3}{2}} \frac{(-1)^{k+1} a^{2k}}{2k+1} + \frac{1}{2} \sum_{k=1}^{\frac{p-1}{2}} \frac{(-1)^k a^{2k}}{k} \pmod{p^2}.$$

Example 2. Case $m = 1$. For any prime $p \geq 3$ and $a \in \mathbb{Z} - p\mathbb{Z}$, $|a| \not\equiv 1 \pmod{p}$:

$$(1 - a^2) \sum_{k=0}^{\frac{p-3}{2}} k a^{2k} H_{2k} \equiv a^2 \left(\frac{(a^2 + 1) q_p(a)}{2(a^2 - 1)} - \frac{1}{4} q_p(a^2 - 1) + \frac{1}{4a} q_p \left(\frac{a+1}{a-1} \right) \right) \pmod{p}.$$

Theorem 5. For any prime $p \geq 3$ and $a, b \in \mathbb{Z} - p\mathbb{Z}$, $|a|, |b| \not\equiv 1 \pmod{p}$:

$$\sum_{k=0}^{\frac{p-3}{2}} V_{2k} H_{2k} \equiv \frac{a^2 q_p(a)}{a^2 - 1} + \frac{b^2 q_p(b)}{b^2 - 1} - \frac{1}{2} q_p((a^2 - 1)(b^2 - 1)) \pmod{p},$$

$$(a - b) \sum_{k=0}^{\frac{p-3}{2}} U_{2k} H_{2k} \equiv \frac{a^2 q_p(a)}{a^2 - 1} - \frac{b^2 q_p(b)}{b^2 - 1} + \frac{1}{2} q_p \left(\frac{b^2 - 1}{a^2 - 1} \right) \pmod{p}.$$

Corollary 2. Since $1 - a = b$ and $ab = 1$, we have:

$$\sum_{k=0}^{\frac{p-3}{2}} L_{2k} H_{2k} \equiv \frac{a^2 + 1}{2(a^2 - 1)} q_p(a) + \frac{a^2 - 2a + 2}{2a(a - 2)} q_p(a - 1) - \frac{1}{2} q_p(a^2 - a - 2) \pmod{p}.$$

$$\sum_{k=0}^{\frac{p-3}{2}} F_{2k} H_{2k} \equiv \frac{3a^2 - 1}{2(2a - 1)(a^2 - 1)} q_p(a) - \frac{3a^2 - 6a + 2}{2a(2a - 1)(a - 2)} q_p(1 - a) + \frac{1}{2(2a - 1)} q_p \left(\frac{a - 2}{a + 1} \right) \pmod{p}.$$

References

- [1] L. Elkhiri, S. Koparal, N. Omur, New congruences with the generalized Catalan numbers and harmonic numbers, *Bull. Korean Math. Soc.* 58 (2021) 1079-1095.
- [2] A. Granville, The square of the Fermat quotient, *Integers: Electronic Journal of Combinatorial Number Theory* 4 (2004), #A22.
- [3] J. W. L. Glaisher, On the residues of the sums of products of the first $p - 1$ numbers, and their powers, to modulus p^k or p^l , *Q. J. Math.* 31 (1900) 321-353.

- [4] D. Guo, W. Chu, Summation formulae involving multiple harmonic numbers, *Appl. Anal. Discr. Math.* 15 (2021) 201-212.
- [5] S. Koparal, N. Omur, Congruences related to central binomial coefficients, harmonic and Lucas numbers, *Turk. J. Math.* 40 (2016) 973-985.
- [6] M. Vasuki, R. Sivaraman, L. Elkhiri, J. López-Bonilla, Generalization of certain Mestrovic's congruence, *Int. J. of Applied and Advanced Scientific Res.* 9, No. 1 (2024) 87-88.
- [7] J. Wolstenholme, On certain properties of prime numbers, *The Quarterly J. of Pure and Applied Maths*, 5 (1862) 35-39.

